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In Q.67, a doubt was raised regarding whether Statement 4 (Bacteria is used in production of bread) 

is correct. 

Explanation: Yeast is the microorganism that is used in production of bread. Yeast is a single celled, 

microscopic fungus that uses sugar in flour as food. In bread making, the carbon dioxide produced by 

the yeast during respiration is trapped in the dough, causing it to rise. Although, bacteria are used to 

impart a flavour to bread but it is not the primary microorganism used to develop bread. Statement 

4 is thus incorrect. 

 

In Q. 74, a doubt was raised regarding whether ‘Large hydropower projects’ constitutes part of 

Renewable Energy in India. 

Explanation: ‘Large hydropower projects’ does now constitutes a part of Renewable Energy in India. 

Earlier, only Small hydropower projects (i.e. those less than 25MW) are categorized as Renewable 

Energy. But the Government of India, in 2019, declared that ‘Large Hydropower Projects’ will be now 

considered a Renewable Energy source. 

 

 

 

 


